Alle Rechte vorbehalten/ Al rights reserved

| 2 3 L 5 | 6
; max.2,5 max. 16,2
Panel cutting nax. 3h 49'_6—9
—
xb M 3 or max. 18 jack height ,Max.12,1
|
9,140,1
— =
%
@ o] |
/ \ % /
= Q- > _ =z
” - R
= T ||| e |
. H .
< YaX|s——-] T = 4] ! = Y axis
- | C=BE=C =g
—~ — |
@ @ //
N\ | )
(&)
2 328 0,2 =
: x | Panel seal—__ Screw seal T
. iy
< | B
I —
Connector pitchs on panel = 35 mm = ' |
Receptacle mating face according fo s > . oH - _'%Lr" Axis X
[EC 61076-3-106 - variant 0& -l € i —
A, B, C jack references according to = :
[EC 60603-7 = | {‘l__} L 1 L]
Screwing by x4 M3 screws with torque 0,5 N.m || B
with flat washer under the screw -
. bo. N G@ Push-pull RJ Industrial pstat/
b e D =N Fasy install [P 67 receptacle | 4 54
pri nsp. im, in nm ' v
33447 |24/march/06]  JFB | Stond. Orig. Size DINA 3 for other jacks
33405 |20/dec/05 BD Blatt/ Page
33289 [19/dec/05|  BD HART ING EURIT TB 09 [‘5 5[*5 0030 1/
Nod. Dal. None F-95972 Paris . [




Alle Rechte vorbehalten/ Al rights reserved

1 | 2 3 L 5 | 6
— max.3k — max.2,5 max.16,1>|
max. 18 max.h,05
<—>| e
jack data contacts Panel front stop
position way the top. s .,
) / ! g
© 2 |
ot | | QE —- - I -t Y axis
=l Pt . w|Z
x| = Y GXIS-—:!EI 3 . » ! |
2l = . - | [ I E—
ST & // Y = :M
o e, 2
>< S jack pegs position
' I axis
] 5,7210,05 min.12
(11,43) )
Panel seal—F 7 Screw seal 4
-—1F
= “ﬁ((k\.& I
Connector pitchs on panel = 35 mm o| = =
Receptacle mating face according to =~| & = | .
[EC 61076-3-106 - variant 04 : - —E o - — - %—X axis
Jack B reference according to IEC 60603-7 = =
Posifion dimensions for = L1 L
Harting SMD jack P/N 09 45 551 1100 :

r
|
N

PCB Layout see TB 09 45 551 1100 _J:}

Screwing by x4 M3 screws with torque 0,5 N.m /y
with flat washer under the screw Panel tickness 0,8 fo 10 mm .

Dat, Name Push—Eull RJ industrial MaBstab/
petoil, | 10/05/06 | JFB G@ Easy install IP 67 receptacle | Kot
With position dimensions of

Insp. AL Dim. in m Harting SMD jack 1,5/1
Stand. Orig. Size DIN A 4 P/N 09 45 551 1100
33812 [23/oct/06] JFB

33468 |10/may/06| JF8 | DARTING EURL e TB 09 L5 545 0030 [*%"™

. 2
M. Dal. Nane F-95972 Paris Sub. / [




Alle Rechte vorbehalten/ Al rights reserved

1 | 2 3 L 5 | 6
_ nax. 3 _ max.2,5 max.16,1E>
b M3 or Panel front stop
Xk Bhto,1 |4 [g0.2[0] QMB‘ E
| [ i
i, n (S e e &\ I
o e 1 - —Y axis
< 5] 3 /T2yl = O |
<Y oxis-!!!— = ' |
2 i I= = 1 . -
| | . | V PCB -
| Screw seal
RIRNC
= jack pegs position max. 4,05
| 5, 720,05 I axis
, (11.43) ) Screw seal
Panel cutting AMILEI Panel seal—] T
LIy
Connector pitchs on panel = 35 mm L Isbk-————————w
Receptacle mating face according to A A\ 1 [
IEC 61076-3-106 - variant 04 N ‘
Jack B Ref according to IEC 60603-7 -T- e b :: -%—-
Position dimensions for 7N
Harting right angle jack. N[/ L] L
PCB layout see TB 0945 551 1102.
Screwing by x4 M3 screws with torque 0,5 N.m
with flat washer under fthe screw Panel tickness 0.8 to 10 mm _%7
4
Dat, Name Push-Pull RJ industrial Mapstab/
Detail, | 21/04/06 | JFB 56?{] i"ST?U ”(’1,57 receptacle | i
o ith position dimensions
lsp. All Diw. in of Harting right angle jack 1,571
Stand. Orig. Size DINA & P/N 09 45 551 1102

33872 |23/act/06| JFB Blatt Poe
3468 |27/apr/08| JF8 | HARTING EURL e 1B 09 45 545 0030

3
F-95972 Paris e

Sub.

Mod. Dat. Name




Alle Rechte vorbehalten/ Al rights reserved

1 | 2 3 L 5 | 6
, max. 3k max. 16,2
Panel cutting : =]
xb M 3 or max.18
@ | ©]
/ \ 5
A N 2
<| < : — ” ]
<| an|s——- : == —L . -H—Y axis
gl 2 ! SEES
@‘ ’@ //
i \S i 2/
(&)
2 328 0,2 =
< x Panel seal\:_ Screw seal
> A iim
i o mE
Connector pitchs on panel = 35 mm | @ =] |
Receptacle mating face according to sz — N —_ir_ Axis X
[EC 61076-3-106 - variant 04 | = —] ! —
A, B, (C jack references according to = = |
IEC 60603-7 € LS~ L1 L
Screwing by x4 M3 screws with torque 0,5 N.m | || B
with flat washer under fthe screw —
_| Nme G@ Push-pull RJ Industrial b/
?”""' B/No/07| B g Easy install IP 67 receptacle | 4.4
nsp. im. in nm : . )y
_—h wig. ssoma 3| 107 verfical modular jack.
Bloit/ Page
34780 | 29/No/07? JFB HART ING EURL TB 09 AS 5[#5 0030 4/
Mod. Dat. None F-95972 Paris .




T Life

Hu1Boe NapTHEPCTBO

000 “/1aiipINeKTPOHUKC” “LifeElectronics” LLC

MHH 7805602321 K 780501001 P/C 40702810122510004610 ®AKb "ABCO/IOT BAHK" (3A0) 6 2.CaHkm-Ilemep6bypee K/C 30101810900000000703 EUK 044030703

KomnaHus «Life Electronics» 3aHumaemcsi nocmaskamu 351€KmMpPOHHbIX KOMITOHEHMO8 UMIOPMHO20 U
omedyecmeeHHo20 rpouseodcmea om npoudeodumernel u co ckrnados KpyrHbix ducmpubbomopos Esporibi,
AMepuku u Asuu.

C koHua 2013 200a KoMraHusi akmueHo pacwiupsiem fuHelKy MocmagoK KOMIOHEHMO8 0 HarnpaeneHuo
KoakcuarbHbIl kabesb, Keapuesbie 2eHepamopbl U KOHOeHCcamopbi (KepaMuyeckue, nieHoYHbIe,
3neKmposiumuyeckue), 3a cuyém 3akntoyeHuss ducmpubbromopcKux 002060p08

Mbi1 npednasaem:

o KoHKypeHmocnocobHbie UeHbl U CKUOKU MOCMOSIHHbIM KITUeHmMam.

e CrieyuarsnbHbie ycrio8usi 07151 TOCMOSIHHbIX KITUEHIMO8.

e [lod6op aHarnoeos.

lMocmaeky KomMrnoHeHmMo8 8 ftobbix obbemax, y0oernemeopstouUx eawum MompebHoCMSsM.

lpuemnembie cpoku nocmasku, 803MOXHa yCKOPEeHHasi mMocmaska.
Locmaeky mosapa & ritobyto moyky Poccuu u cmpaH CHI™.
KomrinekcHytro nocmasky.

Pabomy no npoekmam u rnocmasky obpa3syos.

®opmuposaHue ckiada nod 3akaszyuka.

Cepmucgbukambl coomeemcmeus Ha rnocmassnseMyro npooyKyuUto (Mo XenaHu KueHma).
o TecmuposaHue nocmasnsemMou npodyKyuu.

e [locmasKy KOMMOHEHMOo8, mMpebyruux 806HHYIO U KOCMUYECKYH MPUEMKY.

e  BxodHoli KOHMposib Ka4yecmea.

e  Hanu4yue cepmugpukama I1SO.

B cocmaee Hawel komnaHuu opeaHu3oeaH KoHcmpykmopckuli omderst, npu3eaHHbIl MomMozamb
paspabomyukam, U UHXEHepaM.

KoHcmpykmopckuli omOen nomoaaem ocyujecmseums:

Pezaucmpauuro npoekma y npousgooumersisi KOMIOHEHMOS.

TexHu4eckyro no0depXKy rnpoekma.

Bawumy om cHaMuUs KOMroHeHma ¢ npoussoocmea.

OueHKy cmoumocmu fpoeKkma ro KOMIOHeHmam.

U3ezomoerneHue mecmosol rnnambl MOHMaX U ryckoHanadoyHbie pabomeil.

lattis % A g nncen TP intessil, Panasons (T U170 ATEL AMDIN EEEs

0KI ﬂ_[ [ SANYD Quaoww RENESAS  SIEMENS SHARP _ ’[:E”"—:,l
g Sy, [IE moxm s U AT €N [qaL

BOURNME

NS 7, Citwbond DALLAS Meare  Gllegns (inteD e | ™ RONM
International . . — .
..-nﬂm.n._,,.,_ w@ TosHiga ZETEX 'niemalofa Amphenol élantec uichicon FU]ITSU

Viccn 5, e Y Sice . @ su@ N [BTOKO

Ten: +7 (812) 336 43 04 (MHO20KaHANbHbI)
Email: org@lifeelectronics.ru

www.lifeelectronics.ru


mailto:org@lifeelectronics.ru
http://lifeelectronics.ru/

